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Comprehension

MCQ

Suggest the correct sequence to seek assistance from venture capital in the company’s development :

(A) Pre-public stage

(B) Second round financing

(C) Seed stage
(D) Start-up finance

Choose the correct answer from the options given below

(1) (©,0) (&) 6)

)
) (B), (4)
) (), ©)

Options:

54025062161. 1
54025062162. 2
54025062163. 3

54025062164. 4

Question Number : 51 Question Id : 54025015541 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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(A) Td e =20

(B) GHUIR & e

(C) aHitver =

(D) &R &m il

A U U forshedi  § el I B 9
(1) (©), D) (A), (B)

(2) (C), (B), (D), (A

(3) (. D), (B). (A

(4) (C), (A), (B), (D
Options :

54025062161. 1
54025062162. 2
54025062163. 3

54025062164. 4

Question Number : 52 Question Id : 54025015542 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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Suggest the correct sequence of steps to calculate return on Equity.
(A) Add all fixed expenses

(B) Calculate profit before tax

(C) Subtract COGS from sales revenue

(D) Calculate profit after tax

it X
(E) Calculate Net profit x 100 + Equity {Net profit 100}

Equity

Choose the correct answer from the options given below :
(h) (@A) (C)f (B), (D), (E)

(2)
(3)
(4)

Options:
54025062165. 1
54025062166. 2

54025062167. 3

54025062168. 4

Question Number : 52 Question Id : 54025015542 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Wmmﬁﬁmﬁ%maﬁﬁﬁw
(A) Gt FeeR =g &l SH 1

(B) Y H U o &Y I UIhe

(C) feshl 311 H ¥ COGS il 52l

(D) L % ¥R A AT IR

(E) 9iereH Fea @19 x 100 + 3ot [ﬁaag:; 100]
i fou u foemedi ° 9 W& SO H T H

(1) @), ©, (B), (D), (E)

(2) (©),(A), (B), (D), (E)

3) (©), (B), (D), (A), (E)

(4) (B) (O), (D), (A), (E)
Options:

54025062165. 1
54025062166. 2
54025062167. 3
54025062168. 4

Question Number : 53 Question Id : 54025015543 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

@:ollegedunias

-~



Suggest the correct option to calculate reorder formula :
(1) Average daily usage rate X per unit cost
(2) Variable costx Lead time in days
(3) Average daily usage rate X Lead time in days
(4) Lead time in days X total cost
Options :
54025062169. 1
54025062170. 2
54025062171. 3

54025062172. 4

Question Number : 53 Question Id : 54025015543 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Rearderfﬁﬂﬁfﬁﬁ?@ﬁ%mﬂﬁmﬂw:
(1) sirad gfafes efiar e x 9fd 3 aFd

(2) uftafda @rE x ofte 999 feai |

(3) oirga ufdfe SwEfian X x ofre 99 fei |
(4) dite 99 fedi § x el oI

Options :

54025062169. 1
54025062170. 2
54025062171.3

54025062172. 4

Question Number : 54 Question Id : 54025015544 Question Type : MCQ (@o”egedun la
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Select the odd one out from the opportunities available to venture at the last stage of venture
capital finance :

(1) Keeping new competitors away from the market
(2) Eliminate competitors

)
(3) Development capital
(4)  No merger with other companies
Options :
54025062173. 1
54025062174. 2
54025062175. 3

54025062176. 4

Question Number : 54 Question Id : 54025015544 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) SR § 7 GfeEr 1 et T
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Options :

54025062173. 1
54025062174. 2
54025062175. 3
54025062176. 4

Question Number : 55 Question Id : 54025015545 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - II.
List -1 List - II
(A) When to place an order ()  Order quantity
(B)  Cost for ordering () Reorder point
(C) How much to order (IIl) Includes cost of money tied up
(D) Inventory carrying cost (IV) Includes paperwork
Choose the correct answer from the options given below :
(1) (AHI), B)-(V), (C-), (DHII)
() (AHLV), (B)(1), (CIL), (DAL
() (AR, (B0, (CHI), (DHIV)
(4)  (AHLV), (B)(L), (C(I), (DA
Options:

54025062177.1
54025062178. 2
54025062179. 3

54025062180. 4
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Question Number : 55 Question Id : 54025015545 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

-1 1 get-11 § e

= fou o fased | 9 WE S A TH B
(1)  (A)I), B)-{IV), (C)(1), (D)-(IL)
(2)  (A)}1V), (B)-(1), (O)-(IM), (D)-(I)
(3) (A)-(11), (B)-(1), (O-I), (D)-(IV)
(4) (A)HIV), (B)-(IT), (C)-(I), (D)-(I)

Options :

)
)
)
)

54025062177. 1
54025062178. 2
54025062179. 3

54025062180. 4

Question Number : 56 Question Id : 54025015546 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Key Value

Comprehension MCQ

Identify the items which are part of the inventory :
(A) Stock keeping unit

(B) Taxes

(C) Motley crowd

(D) Shelf life

(E) Interest

Choose the correct answer from the options given below :
(1) (A), (©) (E) only

Options :

54025062181. 1
54025062182. 2
54025062183.3

54025062184. 4

Question Number : 56 Question Id : 54025015546 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

&:ollegedunias

-~



39 I i ggdAE Sifere i1 foR forga gt &1 fewm €

(A) Iw TEH Fl THE
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(1) <&d (A), (©), (E)
(2) &9 (A), (O), (D)
(3) ad (A), (B), (C)
(4) FFA (A), (B), (E)
Options :

54025062181. 1
54025062182. 2
54025062183. 3
54025062184. 4

(
(D) ETE |HAT o HERU & IUAN i ey
(

Question Number : 57 Question Id : 54025015547 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks :

Question Key Details :

1

Key

Value

Comprehension

MCQ
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Annual quantity of pens sold by a shop 15 1,200 at the rate of T100 per unit. Cost of placing an
order and receiving is ¥ 500 per order. Inventory holding cost €30 per annum. Calculate FOQ ?

(1) 2000 uni
(2) 200 units
() 4000 uni
(@) 20 unifs
Options :
54025062185. 1
54025062186. 2
54025062187. 3

54025062188. 4

Question Number : 57 Question Id : 54025015547 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

T S T 1,200 ¥ 3 100 6 397 a1 &0 8 90 €1 T ¢ SR T 4 @ 2500 W

T A e A 230 ¥ a1 £ 1 BOQ 1 Wi i/

2000 FFE

)
) 200 5%
)
)

(1
(2
(3
(+

4000 3FE
20 5

Options :

54025062185. 1
54025062186. 2
54025062187. 3

54025062188. 4
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Question Number : 58 Question Id : 54025015548 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - II,
List - I List - II

(A) Merger between companies producing
different goods for one specific finished product

(B) Merger between firms that are totally unrelated
(C) Merger between companies in the same industry

(D) Merger between companies that deal in same
proctucts but separate market

Choose the correct answer from the options given below :

(1) (AHIV), (B)IL), (C)-0), (DHI)
(2) (AXD), (BK), (OAI), DHIV)
() (AMIV), (B, (C-{LD), (DI
(4 (AHIV), (B, (C){T), (D)0
Options :

54025062189. 1
54025062190. 2
54025062191. 3

54025062192. 4

)  Horizontal merger

I} Market extension merger
() Conglomerate
(IV) Vertical merger

Question Number : 58 Question Id : 54025015548 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1
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Question Key Details :

Key Value

Comprehension MCQ

el w11 e
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(B) it % it o oo if 0 e W g (1

(O Uil & g # foem <if o € e 4 (1) HYfew (¥7)

(D) H o o9 ¥ foer sife & & o (IV) SR faem
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A o T foeped] o 9 et I A T

(2
(3
(4

) (AHD,
) (A) I) (
) (AHIV), (B,
Options :
54025062189. 1
54025062190. 2
54025062191. 3

54025062192. 4

Question Number : 59 Question Id : 54025015549 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value ‘

Comprehension MCQ .
collegedunias




Identify the advantages of franchising to the franchisor :

A) Product Acceptance
B) Cost advantage

D) Capital requirements

(
(
(C) Quick Expansion
(
(

E) Operating and structural controls

Choose the correct answer from the options given below :

(1) (B) and (C) only

A), (C), (D), and (E) only

(2 @A),
(3) (A), (B) and (C) only
4)

E) only

Options:

54025062193. 1
54025062194. 2
54025062195. 3

54025062196. 4

Question Number : 59 Question Id : 54025015549 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks :

Question Key Details :

1

Key

Value

Comprehension

MCQ
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(A) 3] TR

(B) NTd o9

(C) Sieal faer

(D) YSit s70eM

(E) HdeH 3R &= s

= fou 7u fasredi © 9 W& SUL H T
(1) aa (B) 3 (C)

(2) wE (A), (O), (D) ¥R (E)
(3) FA (A), (B) ¥R (C)

(4) FIA (E)
Options :

54025062193. 1
54025062194. 2
54025062195. 3

54025062196. 4

Question Number : 60 Question Id : 54025015550 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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Following are the elements of a franchise agreement :
(A) Contract explanation

(B) Operations manual

(C) Due diligence

(D) Proprietary statements

(E) Ongoing site maintenance

Choose the correct answer from the options given below :
(1) (&), (B), (O), (D), (E) only

(2)  (A) (B), (©), (D) only
(3)  (B), (©), (D), (

(4) (&), (B), (D), (E) only
Options :

54025062197. 1

54025062198. 2

54025062199. 3

54025062200. 4

Question Number : 60 Question Id : 54025015550 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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E) =1d @l 9 & WEE
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(1) e (A), (B), (C), (D), (E)

(2) @ (A), (B), (©), (D)
(3) @ (B), (C), (D), (E)
(4) a9 (A), (B), (D), (E)

Options :

54025062197. 1
54025062198. 2
54025062199. 3
54025062200. 4

Question Number : 61 Question Id : 54025015551 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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The BIFR declared a government company as a sick industry. The government decided to sel
them to the private sector. Gaurav purchased the public company. [dentify the type of Acquisition
done.

(1) Friendly
(2) Reverse
(3) Back fip
(4) Hostile
Options :
54025062201. 1
54025062202. 2
54025062203. 3
54025062204. 4

Question Number : 61 Question Id : 54025015551 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

BIFR U SR e 1 IR eI IV o 1 e 1 Sl ol et o o o e )
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(1) o

(0 fad
(3) o i
()

Options:

)
)
)
)

54025062201. 1
54025062202. 2
54025062203. 3
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54025062204. 4

Question Number : 62 Question Id : 54025015552 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

A+B=A
Where, A=Company A
B=Company B

and company B is merged into company A. Identify the type of merger in the above case.

(1) Amalgamation
) Absorption

3) Consolidation
)

4)  Acquisition

2
(
(
Options :

54025062205. 1
54025062206. 2
54025062207. 3

54025062208. 4

Question Number : 62 Question Id : 54025015552 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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A+B=A.
T, A=F71 A
B=B & 4N
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(1
2
3
(

) HHHEH
) ae
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4)  aftmrEm
Options :

54025062205. 1
54025062206. 2
54025062207. 3

54025062208. 4

Question Number : 63 Question Id : 54025015553 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Following list provides the advantage of franchise business to franchisee. Find the odd one out ?
(1) Trained by Franchisor

(2) Get freecom to run business on their own tetms

(3) Product acceptance due to established brand name

(4)  Cost saving as advertising expenses are shared

Options:
540250622009. 1

54025062210. 2

54025062211. 3 ,
collegedunias
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54025062212. 4

Question Number : 63 Question Id : 54025015553 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

frefafed gt Thas s &1 oy Hargst 1 <l § faom o =7 & 2

(1) WS g giem &
(

9 vt W fooE 9e & o fae

(

Options :

54025062209. 1
54025062210. 2
54025062211.3

54025062212. 4

2)
(3) Tftd §TE 3 § o wiigfd
4) ToRI R @4 I W FH H A A a9 2

Question Number : 64 Question Id : 54025015554 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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Select the one which is not a disadvantage of franchising to the franchisee.
(1) Right and the only way of doing things

(2) Continuity cost implication

(3) Difficulty in identifying quality franchisees

(4) Risk of franchisor getting bought

Options :

54025062213. 1

54025062214. 2

54025062215. 3

54025062216. 4

Question Number : 64 Question Id : 54025015554 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

forddl e =1 99 L ARSI 2l s &l hEH 7 2
(1) T&l iR T Tl HH FH F

(2) Tiazar awma ffeaned

(3)  TurerRn ErEforl i ugEH & H wies

(4) TEES i S Sy

Options :

54025062213. 1
54025062214. 2
54025062215. 3

54025062216. 4

Question Number : 65 Question Id : 54025015555 Question Type : MCQ ‘&:ollegeduniag
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

A merger between companies dealing info completely unrelated products is known ag
(1) Horizontal merger

)
(2) Product extension merger
(3)  Market extension merger
(4) Conglomerate merger

Options :

54025062217. 1
54025062218. 2
54025062219. 3

54025062220. 4

Question Number : 65 Question Id : 54025015555 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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54025062217.1
54025062218. 2
54025062219. 3

54025062220. 4

Question Number : 66 Question Id : 54025015556 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - IL.
List - List - 11

A) Producer » wholesaler retailer — customer (I)  Three level
() One level

(I) Two level
(

D) Producer — agent — wholesaler — retailer — customer (IV) Zero level

B) Producer = customer

C) Producer - retailer — customer

(
(
(
(

Choose the correct answer from the options given below :
(1) (AR, (BIV), (©)-(11). (D)-{1)

2) (M), B-(IV). (O, (DHI)

(3) (AHD), B)-), (OHIV), (D))

(4)  (AH), BHIV), (-0, (DHI)

Options :

54025062221. 1

54025062222. 2

54025062223. 3

54025062224. 4

Question Number : 66 Question Id : 54025015556 Question Type : MCQ ( .
collegedunias
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

at-1 il eIl § e
oI -1
(A) I — 9k fershel G Fershll - T (
(B) 3R — T () wad T
(C) 3 — G3U Telshl — TR (
(D) 3cEE — T2 — & ferghal — GeU folohl Tk (
A few 0 ferredi H 9 W& I T AL
1) (A)-(IH), BHIV), (C)-(LL), (D)-(1)

(

(2) (A, BHIV), (O, (DHI
(3)  (AHD), (BHI), (O-IV), (D)
(4) (A, BHIV), (©-0), (DHI

)
) )
) )
) )
Options :

54025062221. 1

54025062222. 2

54025062223. 3

54025062224. 4

Question Number : 67 Question Id : 54025015557 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
collegedunias
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Comprehension MCQ
Match List - I with List - IL

List - List - II

(A) Trade mark () Itidentifiesand distinguishes the source of a service rather
than a product

(B) Brand mark () Itisaword phrase symbol thatidentifies and distinguishes
the source of goods

(C) Service mark () That part of a brand which can be vocalized

(D) Brand name (IV) Itis that part of a brand which can be recognized but can
not be vocalized

Choose the correct answer from the options given below :

(1) (AN, (BK{L), (CHLV), (DHID

(2) (AM{ID), (BT} (C1(0) (PHV
(3) (M) (BHIV), (CHD), (DA
(4 (AHD), (BHL, (CHILL, (DHIY)
Options:

54025062225. 1
54025062226. 2
54025062227. 3

54025062228. 4

Question Number : 67 Question Id : 54025015557 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) (AW, (BHD), (CHIV), (DK

(2) (AR, (BHI, C-{0) (DHIV

(3) (AMI) (BHIV), (CHD). (D

(4)  (AHD, (BH), (OHI, (DAIV

Options:

54025062225. 1
54025062226. 2
54025062227. 3

54025062228. 4

Question Number : 68 Question Id : 54025015558 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Which of the following components of sales strategy creates brand awareness by using various

marketing channels ?
(A) Business Plan

(B) Pricing

(C) Product placement
(D) Promotions

(E) Indirect sales

Choose the correct answer from the options given below

(1) (A) () oty

(2) (B), () only
B) (A (D)ol
(4 (C), (D) only
Options :

54025062229. 1
54025062230. 2
54025062231. 3

54025062232. 4

Question Number : 68 Question Id : 54025015558 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(
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Options:

54025062229. 1
54025062230. 2
54025062231.3

54025062232. 4

Question Number : 69 Question Id : 54025015559 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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Big firms adopt this channel to cut distribution costs and to sell industrial products of high Value?

[dentify the type of channel of distribution highlighted in the statement from the following :

(1) Indirect-One level
(2) Twolevel
(3) Three level
(4)  Zero level
Options:

54025062233. 1
54025062234, 2
54025062235. 3

54025062236. 4

Question Number : 69 Question Id : 54025015559 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

) T o AT W el 8 SR 98 0 A% ST 0 99 o o7 39 <70 6 9
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(1) 98 T &
2 aw

(8)

(4 QEW
Options :
54025062233. 1
54025062234. 2
54025062235. 3

54025062236. 4
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Question Number : 70 Question Id : 54025015560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

A company i created by law and exists as a person having a distinct personality of its own. The
scope of this artificial person is determined by certain parameters. Any work done beyond these

documents can lead to winding up of the process of the company. Identify the document that
does not determine the scope of the company ?

(1) The Indian Company Act
(2) [Partnership Deed

(3) Memorandum of Association
(4)  Articles of Association
Options :

54025062237. 1
54025062238. 2
54025062239. 3

54025062240. 4

Question Number : 70 Question Id : 54025015560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

54025062237. 1
54025062238. 2
54025062239. 3

54025062240. 4

Question Number : 71 Question Id : 54025015561 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

Identify the advantage of penetration pricing to the firm :
(1) Simplest method to decide the price for a product

2

4

Options :

54025062241. 1
54025062242. 2
54025062243. 3

54025062244. 4

(2) Helps in recovering the research and development costs
(3) Promotes the entry for competitors
(4) Result in fast diffusion and adoption

@:ollegeduniag
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Question Number : 71 Question Id : 54025015561 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

wH & faT T goa fuRe & sl it 989 i
(1) TorHl IcUIE I ShiHd TF KT hl o STHME dhl
(2) SATHYH AR 9™ AREl Fl 9 H Heg Hdl ¢ |
(3) wfaifiri o forg warer =i sferen < B
(4) ST H YER R TS o H g |
Options :

54025062241. 1

54025062242. 2

54025062243. 3

54025062244. 4

Question Number : 72 Question Id : 54025015562 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Mohit is manufacturing and selling noodles and sauces under the brand name ‘Basant’. Now he
wants to sell masalas under the same brand name. Identify the type of brand name ‘Basant is :

(1) Individual brand name

(2) Corporate brand name

(3) Family brand name

(4) Alpha numeric brand name
Options :

54025062245. 1
54025062246. 2
54025062247. 3

54025062248. 4

Question Number : 72 Question Id : 54025015562 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

e 1€ T 'R o 7 e oI 9 1 e o Fot R 1 1 9 o 0 g T
ST T £ 90 918 T 5 Y 9 O )

T 7 TH

Options :

54025062245. 1
54025062246. 2
54025062247. 3

54025062248. 4
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Question Number : 73 Question Id : 54025015563 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

WMduﬁmEEMngmmsmammmMmmanm@qﬁ%%gmhAM$Mmm%ﬁmﬁsommh

more ?

(1) Logo
(2) Brand
(3) Taglme
(4) Labelling
Options :
54025062249. 1
54025062250. 2
54025062251. 3

54025062252. 4

Question Number : 73 Question Id : 54025015563 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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Options:

) e

) o
4 '
54025062249. 1
54025062250. 2
54025062251. 3

54025062252. 4

Question Number : 74 Question Id : 54025015564 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

Which of the following is not an approach, a company can choose to promote its products ?

L
2
3
4

) Above-the-line
) Below-the-line
) Off-the-line

) Through-the-line
Options :
54025062253. 1
54025062254, 2
54025062255. 3

54025062256. 4

Question Number : 74 Question Id : 54025015564 Question Type : MCQ (g

-~

C
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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Options :

54025062253. 1
54025062254. 2
54025062255. 3

54025062256. 4

Question Number : 75 Question Id : 54025015565 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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Requirements for transportation and communication facilities, modes and means opted for,
bottlnecks etc. are duly covered in by the business plan. Identify the component of business plan
that covers these requirements ?

(1) Description of venture
(2) Production plan

(3) Operational plan
(4) Organizational plan
Options :
54025062257. 1
54025062258. 2
54025062259. 3

54025062260. 4

Question Number : 75 Question Id : 54025015565 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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2

(3 wﬁwm
(4) HETER

Options :
54025062257. 1
54025062258. 2

54025062259. 3
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54025062260. 4

Question Number : 76 Question Id : 54025015566 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

Suggest the factor which will not be considered while planning the product mix for a business

organization.

(1) What does the customer want from the product ?
) How is it differentiated from the competitors ?
(3)  What will be the price of the product ?
} - How and where will the customer use it ?

’

(4
Options :
54025062261. 1
54025062262. 2
54025062263. 3

54025062264. 4

Question Number : 76 Question Id : 54025015566 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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Options :

54025062261. 1
54025062262. 2
54025062263. 3
54025062264. 4

Question Number : 77 Question Id : 54025015567 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Rajat wanted to setup his own business but he did not have the required funds. He was also not
able to set up a meeting with the investors to explain his project. One day he was able to give a
short summary of the project to the investors in the elevator. This awaken the interest of the
investor. Identify the format of a business plan used by Rajat.

(1) A pitch with oral narrative
(2) Elevator pitch

(3) Written presentation

(4) Internal operational plan
Options:

54025062265. 1

54025062266. 2

54025062267. 3 @0” egedunia;
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54025062268. 4

Question Number : 77 Question Id : 54025015567 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

54025062265. 1
54025062266. 2
54025062267. 3

54025062268. 4

Question Number : 78 Question Id : 54025015568 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value |

Comprehension MCQ @:ollegedunias
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Identify the correct statement that can be used to explain the word ‘Patent’:

(1) Itisarecognisable sign, design or expression

) It gives the creator of original work exclusive rights to it

) It grants an inventor the right to exclude others from making using and selling
) It protects the visual design of objects that are not purely utilitarian

(2
(3
(4
Options:

54025062269. 1
54025062270. 2
54025062271.3

54025062272. 4

Question Number : 78 Question Id : 54025015568 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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Options :

54025062269. 1
54025062270. 2
54025062271. 3

54025062272. 4

Question Number : 79 Question Id : 54025015569 Question Type : MCQ (g
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

An entrepreneur should make every effort to prepare a comprehensive and detailed marketing
plan as a component of business plan. Choose the right sequence to preparation.

(A) Identify the target market

(B) Establish goals

(C) Detine marketing strategy

(D) Conduct SWOT analysis

(E) Business situation analysis

Choose the correct answer from the options given below
(1) () (E) (&), () (€
(

(2) () (&) (O B) (©)
() (E) (O) (4). (C), B)
(4 (&) (@A) ), €) 6

Options :

54025062273. 1
54025062274. 2
54025062275. 3

54025062276. 4

Question Number : 79 Question Id : 54025015569 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value ‘

Comprehension MCQ &:o”egeduniaa
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(1) (B), B), (&), D), (C)

(2) () (&) (O (B)

() () [) A © @
)

9
) ()
(£), (4) (), ©, )

(4
Options:
54025062273. 1
54025062274. 2
54025062275. 3

54025062276. 4

Question Number : 80 Question Id : 54025015570 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks :

Question Key Details :

1

Key

Value

Comprehension

MCQ
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Characteristics of a company includes :
A) Voluntary association

(
(B) Artificial person

(C) Unlimited liability
(D) Individual ownership
(E) Sole beneficiary

Choose the correct answer from the options given below :

(1) (A) (B), (D) only

(2) (D), (E) only

(3) (A)only

(4)  (A) (B) only
Options:

54025062277. 1
54025062278. 2
54025062279. 3

54025062280. 4

Question Number : 80 Question Id : 54025015570 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) <& (A), (B), (D)

(2) ad (D), (E)

(3) HaE (A)

(4) FIA (A), (B)
Options :

54025062277. 1
54025062278. 2
54025062279. 3
54025062280. 4

Question Number : 81 Question Id : 54025015571 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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Match List = I with List - IL

List -1 List - II
(A) Single ownership () Two heads bemng better than one
(B) Partnership () Creation of Law
(C) Company (Il Modern form of business organisation emerged to meet

the requirements of large sized business

(D) Joint Stock Company (V) One man controlis best in the world if that man s enough
fo manage everything

Choose the correct answer from the options given below :

(1) (AR, (BK), (CHIL), (DHIV)

(2) (A, (BH{ID, ©-{1, (DHIV)
(3) (AR, B, (CHI), (DHIV)
(4 (AHIV), (B, (CH{Ll, (D)

Options :

54025062281. 1
54025062282. 2
54025062283. 3
54025062284. 4

Question Number : 81 Question Id : 54025015571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) (AM{D), (BK{I), (CHII, (DHIV)

) (AHI, (B)-{I, (C-(1), DXV

(8 (AMID, (B)-{), (CH{II, (DHIV)

(4 (AMIV), (BHT), (CHI, (D))
Options :

54025062281. 1
54025062282. 2
54025062283. 3
54025062284. 4

Question Number : 82 Question Id : 54025015572 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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The minimum number of persons required to start a private company is :

(1) 7
(2) 2
(9 1
(4) 20
Options :

54025062285. 1
54025062286. 2
54025062287. 3
54025062288. 4

Question Number : 82 Question Id : 54025015572 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

T Tl s ) O O 3 A e el R

() 7
(2) 2
3) 1
(4) 20
Options :

54025062285. 1
54025062286. 2
54025062287. 3

54025062288. 4

Question Number : 83 Question Id : 54025015573 Question Type : MCQ C ! - "
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Jaspreet sold his play station on OLX and got a profit of ¥ 5000. When he told his friend about his
business, his friend informed him that what he did was not business even though he earned profit

Identify the feature that was missing that did not make Jaspreet's transaction info business.

(1) Economic activity

(2) Saleand exchange of goods/services
(3) Utdity creation

(4) Regular basis

Options :

54025062289. 1

54025062290. 2

54025062291. 3

54025062292. 4

Question Number : 83 Question Id : 54025015573 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

54025062289. 1
54025062290. 2
54025062291. 3

54025062292. 4

Question Number : 84 Question Id : 54025015574 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

This is the step of creative process Where the idea is verified to from that it has velue. Identify the
step of creative process from the following :

(1) Innovation
(2) Verification
(3) Ilumination
(4) Idea germination
Options :
54025062293. 1

54025062294. 2

54025062295. 3
collegedunias
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54025062296. 4

Question Number : 84 Question Id : 54025015574 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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Options:
54025062293. 1
54025062294. 2
54025062295. 3

54025062296. 4

Question Number : 85 Question Id : 54025015575 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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The verification step in creativity process is also known as

(1) Preparation

(2) Organization

(3) Validation

(4) Incubation
Options :

54025062297. 1
54025062298. 2
54025062299. 3
54025062300. 4

Question Number : 85 Question Id : 54025015575 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
YR i H T Wi T g off S 9 g
(1)
(2) WA
(3) R
(4) ST
Options :

54025062297. 1
54025062298. 2
54025062299. 3

54025062300. 4

Question Number : 86 Question Id : 54025015576 Question Type : MCQ (g
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C

ollegedunia:



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

Rajat manufactures toys. Hehas developed a trend to visit schools and talk to the students regarding
their likes and dislikes of various toys. Based on this information he designs new toys for kids,
Identify the type of trend spotting used by Rajat.

(1) Read trends
(2) Watch trends
(3) Think frends
(4) Talk trends

Options :

54025062301. 1
54025062302. 2
54025062303. 3

54025062304. 4

Question Number : 86 Question Id : 54025015576 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

@:ollegedunias

-~



Tore e a7 | S Toerdl 3 0 o0 <l el fefvet flgeiel 1 e o o o ok g
71 31 T o 1 81 30 SRR & SR R 3 7 & foe 0 e Tt e €1 T

Options :

54025062301. 1
54025062302. 2
54025062303. 3
54025062304. 4

Question Number : 87 Question Id : 54025015577 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Select the correct process- A process of converting an idea into an opportunity and then into an
enterprise,

(1) Environment scanning

(2) Idea generation

&
(

)
| Sensing entrepreneurial opportunities
g

Idea fields
Options :
54025062305. 1

54025062306. 2

54025062307 3
collegedunias

-~



54025062308. 4

Question Number : 87 Question Id : 54025015577 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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Options :

54025062305. 1
54025062306. 2
54025062307. 3

54025062308. 4

Question Number : 88 Question Id : 54025015578 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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Identify the concept that helps an entrepreneur to enlarge the scope of thinking for streamlining

the process of generation of idea awarding to ionvenient frames of ruefulness.

(1) Idea generation
(2) Idea field

(3) PESTEL model
(4) Environment
Options:
54025062309. 1
54025062310. 2
54025062311. 3

54025062312. 4

Question Number : 88 Question Id : 54025015578 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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Options:

540250623009. 1
54025062310. 2
54025062311.3

54025062312. 4
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Question Number : 89 Question Id : 54025015579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

A prospective entreprenuer has to find an opportunity which would be suitable for him/her in
terms of customers to be served and profits expected. Suggest the correct sequence to convert idea
into an enterprise.

(A) Identifying a product or service through innovation

(B) Setting up a project and nurturing it to success

(C) Opportunity spotting by analysing the needs and problems that exist in the Environment
(D) Evaluating the ideas received to from different sources find a creative solution

Choose the correct answer from the options given below

(1) (O) (), ), (4)

& @) € 0)6)
G (©) D) (), )
(4 (D) (C) (A) ©
Options :

54025062313. 1
54025062314. 2
54025062315. 3

54025062316. 4

Question Number : 89 Question Id : 54025015579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
collegedunias
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Key

Value

Comprehension

MCQ

T, R T 1 T T ST T ) 0 e 1 e R G 1 9 o e 9 g
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(A) VS (T % WA o S 71 Xl ] T e
(B) % YA 1 ST R 38 el fet Ol e
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1) O
(2)

(G, (B), (A)
A) (C), (), ()
) (D), (&), ()

)

g
3) (O
(D) (C),(4), (B

(4
Options :

54025062313. 1
54025062314. 2
54025062315. 3
54025062316. 4

Question Number : 90 Question Id : 54025015580 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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Choose the correct sequence to convert an idea into a sound business opportunity :

A)  Application and use

B) Technical complexity and annual turn over

D) Level of operation

(
(
(C) Cost and competition
(
(

E) Product identification
Choose the correct answer from the options given below :

(1) (A) () D) ©) @

)
2) () A) (©), D) B
(3) (4), () (©) D) ()
(@) (E) (4) O) ©) 6
Options:

54025062317. 1
54025062318. 2
54025062319. 3

54025062320. 4

Question Number : 90 Question Id : 54025015580 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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(1) (A). (E) (D), (©), (B)

(2) (E) (4) (), (D), (B)

(3) (A), (E), (©) (D), (B)

(4) (E) (A) (D), ©), (B)

Options:

54025062317. 1
54025062318. 2
54025062319. 3
54025062320. 4

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

2
5402501104
No

null

Question Number : 91 Question Id : 54025015581 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

Comp1
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Read the following passage and answer the question.

Rajesh, Sudhir and Ananya are friends, They all belong to wealthy families. One day they
decided to create an organisation to provide equity capital to entrepreneurs as seed capital or for
growth. They decide to share the profits equally.

One day Rahul came to their office with a PPT and presented a oral narrative of his idea

The three friends were very happy and decided to provide him for 1% share of his company.

Rahul set up his organization by the name of ‘Organico Ltd.” Rahul was selling ceramic cups
and plates. Since the compefition in the market was high, Rahul decided to set a price lower than
the market price to attract new customers. He selected a long distribution channel as his product
was durable. Fixed wests for the organisation is ¥ 1290,000 per year. He sold 60,000 cups @ 20
per unit and 140,000 plates @ 25 per unit. The variable cost on cups was 28 per unit and 10 for

plates.

dentify the source of finance used by Rahul when he went to Rajesh, Sudhir and Ananya.

I

(1)  Angel investors
(2) Venture capital
(3) Primary market
(4) Secondary market
Options:
54025062321. 1
54025062322. 2
54025062323. 3

54025062324. 4

Question Number : 91 Question Id : 54025015581 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

Comp1
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Options:

54025062321. 1
54025062322. 2
54025062323. 3

54025062324. 4

Question Number : 92 Question Id : 54025015582 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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Read the following passage and answer the question.

Rajesh, Sudhir and Ananya are friends, They all belong to wealthy families. One day they
decided to create an organisation to provide equity capital to entrepreneurs as seed capital or for
growth. They decide to share the profits equally.

One day Rahul came to their office with a PPT and presented a oral narrative of his idea

The three friends were very happy and decided to provide him for 1% share of his company.

Rahul set up his organization by the name of ‘Organico Ltd.” Rahul was selling ceramic cups
and plates. Since the compefition in the market was high, Rahul decided to set a price lower than
the market price to attract new customers. He selected a long distribution channel as his product
was durable. Fixed wests for the organisation is ¥ 1290,000 per year. He sold 60,000 cups @ 20
per unit and 140,000 plates @ 25 per unit. The variable cost on cups was 28 per unit and 10 for

plates.

Calculate the total calles by Rahul for cups and plates sold :

(1) 1219000
2) 2820000
(3) 18,80,000
(@) 43,00,000
Options:

54025062325. 1
54025062326. 2
54025062327. 3
54025062328. 4

Question Number : 92 Question Id : 54025015582 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

Comp1
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(1) 12,19,000
(2) 28,20,000
(3) 16,80,000
(4) 45,00,000
Options:
54025062325. 1
54025062326. 2
54025062327. 3
54025062328. 4

Question Number : 93 Question Id : 54025015583 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

Comp1
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Read the following passage and answer the question.

Rajesh, Sudhir and Ananya are friends, They all belong to wealthy families. One day they
decided to create an organisation to provide equity capital to entrepreneurs as seed capital or for
growth. They decide to share the profits equally.

One day Rahul came to their office with a PPT and presented a oral narrative of his idea

The three friends were very happy and decided to provide him for 1% share of his company.

Rahul set up his organization by the name of ‘Organico Ltd.” Rahul was selling ceramic cups
and plates. Since the compefition in the market was high, Rahul decided to set a price lower than
the market price to attract new customers. He selected a long distribution channel as his product
was durable. Fixed wests for the organisation is ¥ 1290,000 per year. He sold 60,000 cups @ 20
per unit and 140,000 plates @ 25 per unit. The variable cost on cups was 28 per unit and 10 for

plates.

Calculate total variable cost of of producing cups and plates ?

(1) 1520000
2) 1820000
) 17,2000
(4 10,00,000
Options:
54025062329. 1
54025062330. 2
54025062331. 3
54025062332. 4

Question Number : 93 Question Id : 54025015583 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

Comp1
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(1) 15,20,000

(2) 18,20,000

(3) 17,20,000

(4) 10,00,000

Options:

54025062329. 1

54025062330. 2
54025062331. 3
54025062332. 4

Question Number : 94 Question Id : 54025015584 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

Comp1
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Read the following passage and answer the question.

Rajesh, Sudhir and Ananya are friends, They all belong to wealthy families. One day they
decided to create an organisation to provide equity capital to entrepreneurs as seed capital or for
growth. They decide to share the profits equally.

One day Rahul came to their office with a PPT and presented a oral narrative of his idea

The three friends were very happy and decided to provide him for 1% share of his company.

Rahul set up his organization by the name of ‘Organico Ltd.” Rahul was selling ceramic cups
and plates. Since the compefition in the market was high, Rahul decided to set a price lower than
the market price to attract new customers. He selected a long distribution channel as his product
was durable. Fixed wests for the organisation is ¥ 1290,000 per year. He sold 60,000 cups @ 20
per unit and 140,000 plates @ 25 per unit. The variable cost on cups was 28 per unit and 10 for

plates.

Calculate the Contribution margin of Organico Ltd. :

(1) 2580000
2) 1000000
(3) 50,000

(@) 40,000
Options:
54025062333. 1
54025062334. 2
54025062335. 3
54025062336. 4

Question Number : 94 Question Id : 54025015584 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

Comp1
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(1) 25,80,000

Q) 100000

(3) 30,000

(4) 40,000

Options:
54025062333. 1
54025062334. 2

54025062335. 3
54025062336. 4

Question Number : 95 Question Id : 54025015585 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

Comp1
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Read the following passage and answer the question.

Rajesh, Sudhir and Ananya are friends, They all belong to wealthy families. One day they
decided to create an organisation to provide equity capital to entrepreneurs as seed capital or for
growth. They decide to share the profits equally.

One day Rahul came to their office with a PPT and presented a oral narrative of his idea

The three friends were very happy and decided to provide him for 15% share of his company.

Rahul set up his organization by the name of ‘Organico Ltd.” Rahul was selling ceramic cups
and plates. Since the compefition in the market was high, Rahul decided to set a price lower than
the market price to attract new customers. He selected a long distribution channel as his product
was durable. Fixed wests for the organisation is ¥ 1290,000 per year. He sold 60,000 cups @ 20
per unit and 140,000 plates @ 25 per unit. The variable cost on cups was 28 per unit and 10 for

plates.

I

(1) Market related
(2) Product related
(3) Company related
(4)  Government related
Options:
54025062337. 1
54025062338. 2
54025062339. 3
54025062340. 4

dentify the factor responsible behind the selection of a longer channel of distribution :

Question Number : 95 Question Id : 54025015585 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

Comp1
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Options:

54025062337. 1
54025062338. 2
54025062339. 3

54025062340. 4

Sub-Section Number : 3
Sub-Section Id : 5402501105
Question Shuffling Allowed : No

Is Section Default?: null

Question Number : 96 Question Id : 54025015586 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2

Read the following passage and answer the question.

Rajesh, Sudhir and Ananya are friends, They all belong to wealthy families. One day they
decided to create an organisation to provide equity capital to entrepreneurs as seed capital or for
growth. They decide to share the profits equally.

One day Rahul came to their office with a PPT and presented a oral narrative of his idea
The three friends were very happy and decided to provide him for 1% share of his company.

Rahul set up his organization by the name of ‘Organico Ltd.” Rahul was selling ceramic cups
and plates. Since the compefition in the market was high, Rahul decided to set a price lower than
the market price to attract new customers. He selected a long distribution channel as his product
was durable. Fixed wests for the organisation is ¥ 1290,000 per year. He sold 60,000 cups @ 20

per unit and 140,000 plates @ 25 per unit. The variable cost on cups was 28 per unit and 10 for
plates.

Which pricing strategy s used by Rahul to price his products
(1) Cost plus price

(2) Penetrating price

(3) Variable price

(4) Creaming price

Options :

54025062341. 1

54025062342. 2

54025062343 3

54025062344. 4

Question Number : 96 Question Id : 54025015586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

@:ollegeduniag

~



Key Value

Comprehension Comp2
FRwfeti Ten 1 G 3T 794 1 9 |

T, QI 4 e o €1 3 e o o @ WP €| o R O e T
fves fon fomps el 1 9 U1 % 0 2 91 o o e siflem Ol €1 010 | 0 1 0 o0
9 7

T e e 379 I H PP it 37 SR 31 T ] e e o g 1 | o 1
7 G U SR 3w A 15% e & @ P o

ﬂg@ﬁ‘OIganicoLtd.’?mrﬁmﬁWWWﬁﬂml ugafmfuamamﬁww
el 4 UG ) SIHT e 3 (0 a1 e § 9 1 FAoifc e a1 oo fon i v o
el v o | 3R T Tl T i & R fo i 3 3G foS A1 AR % fe
FAeiE T 129,000 0 2 €1 %17 60,000 F9 @3 20 9 355 &R 1,40,000 T2 @3 25 7 375
o | 9 T 38 7§95 e R W i ¢ 10 9

Tl A ) 1 17 5 [, o e oo O 41 S e ¢
(1) 7 &0

Q) g (7 )

() e 7

4

Options :

54025062341. 1
54025062342. 2
54025062343. 3

54025062344. 4

Question Number : 97 Question Id : 54025015587 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details : .
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Key Value

Comprehension Comp2

Read the following passage and answer the question.

Rajesh, Sudhir and Ananya are friends. They all belong to wealthy families. One day they

decided to create an organisation to provide equity capital to entrepreneurs as seed capital or for
growth. They decide to share the profits equally.

One day Rahul came to their office with a PPT and presented a oral narrative of his idea
The three friends were very happy and decided to provide him for 15% share of his company.

Rahul set up his organization by the name of ‘Organico Ltd. Rahul was selling ceramic cups
and plates. Since the compefition in the market was high, Rahul decided to set a price lower than
the market price to attract new customers. He selected a long distribution channel as his product
was durable. Fixed wests for the organisation is ¥ 12,90,000 per year. He sold 60,000 cups @ 20
per unit and 1,40,000 plates @3 25 per unit. The variable cost on cups was I8 per unit and ¥ 10 for

plates.

Identify the quality of a brand name ignored by Rahul :
(1) Short
(2) Linked fo product
(3) Noticable

(4) Easy to remember
Options:
54025062345. 1
54025062346. 2
54025062347 3

54025062348. 4

Question Number : 97 Question Id : 54025015587 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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Options:

54025062345. 1
54025062346. 2
54025062347.3

54025062348. 4

Question Number : 98 Question Id : 54025015588 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
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Read the following passage and answer the question.

Rajesh, Sudhir and Ananya are friends, They all belong to wealthy families. One day they
decided to create an organisation to provide equity capital to entrepreneurs as seed capital or for
growth. They decide to share the profits equally.

One day Rahul came to their office with a PPT and presented a oral narrative of his idea

The three friends were very happy and decided to provide him for 1% share of his company.

Rahul set up his organization by the name of ‘Organico Ltd.” Rahul was selling ceramic cups
and plates. Since the compefition in the market was high, Rahul decided to set a price lower than
the market price to attract new customers. He selected a long distribution channel as his product
was durable. Fixed wests for the organisation is ¥ 1290,000 per year. He sold 60,000 cups @ 20
per unit and 140,000 plates @ 25 per unit. The variable cost on cups was 28 per unit and 10 for

plates.

I

(1) Private limited

(2) Partnership

(3) Sole proprietorship
(4)  Co-operative society
Options:
54025062349. 1
54025062350. 2
54025062351. 3
54025062352. 4

dentify the form of business organisation created by Rahul

Question Number : 98 Question Id : 54025015588 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Options:

54025062349. 1
54025062350. 2
54025062351. 3

54025062352. 4
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Read the following passage and answer the question.

Rajesh, Sudhir and Ananya are friends, They all belong to wealthy families. One day they
decided to create an organisation to provide equity capital to entrepreneurs as seed capital or for
growth. They decide to share the profits equally.

One day Rahul came to their office with a PPT and presented a oral narrative of his idea

The three friends were very happy and decided to provide him for 1% share of his company.

Rahul set up his organization by the name of ‘Organico Ltd.” Rahul was selling ceramic cups
and plates. Since the compefition in the market was high, Rahul decided to set a price lower than
the market price to attract new customers. He selected a long distribution channel as his product
was durable. Fixed wests for the organisation is ¥ 1290,000 per year. He sold 60,000 cups @ 20
per unit and 140,000 plates @ 25 per unit. The variable cost on cups was 28 per unit and 10 for

plates.

Calculate the Net Income of the organisation :

(1) 14000
Q) 11,2000
() 1290000
(49,0000
Options:
54025062353. 1
54025062354. 2
54025062355. 3
54025062356. 4

Question Number : 99 Question Id : 54025015589 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Comprehension

Comp2
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(1) 14,000

(2) 11,20,000

(3) 12,90,000

(4) 9,00,000

Options :

54025062353. 1
54025062354. 2
54025062355. 3
54025062356. 4

Question Number : 100 Question Id : 54025015590 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Read the following passage and answer the question.

Rajesh, Sudhir and Ananya are friends, They all belong to wealthy families. One day they
decided to create an organisation to provide equity capital to entrepreneurs as seed capital or for
growth. They decide to share the profits equally.

One day Rahul came to their office with a PPT and presented a oral narrative of his idea

The three friends were very happy and decided to provide him for 1% share of his company.

Rahul set up his organization by the name of ‘Organico Ltd.” Rahul was selling ceramic cups
and plates. Since the compefition in the market was high, Rahul decided to set a price lower than
the market price to attract new customers. He selected a long distribution channel as his product
was durable. Fixed wests for the organisation is ¥ 1290,000 per year. He sold 60,000 cups @ 20
per unit and 140,000 plates @ 25 per unit. The variable cost on cups was 28 per unit and 10 for

plates.

dentify the format of business plan presented by Rahul in front of Rajesh, Sudhir and Ananya,

1) An infernal operational plan

)
3) Anpitch deck with oral narrative
4

Elevator pitch
Options:

54025062357. 1
54025062358. 2
54025062359. 3
54025062360. 4

I
(
(2) A written presentation for external stakeholders
(
(

Question Number : 100 Question Id : 54025015590 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Key

Value

Comprehension

Comp2

&:ollegedunias

~



et Ty 261 UG 31T W9 a1 SR < |

T, T At 30 i €1 3 940 o e & Wl €1 O o7 5 @ e A &
fovem o T el 4 4t 051 6 0 2 91 o o forw gm0 6 10 | 30 0 81 R
9 # 7

4 e e 37 SPie H PP i 37 IR 31 T 4] e e o g 1 | o 1
7 &Y U R 399 9 A 15% e & 7 P o

T ‘Organico Ltd. % T § &7 Fen it F | e ol 9 i i o 1 41
Tget U e 1 SR 0 o ofe T e o i e e 51 oot fo e, e o
i i | R T v T T @ T R i S S s A S & fo
Fae T 12,90,000 5 39 €1 3R 60,000 F9 @3 20 70§30 4R 140,000 T2 @3 25 v $5
o | 0 T %8 91 $973 R 2 T Wl e ¢ 10 4

T, R &R 720 o S T 50 G e ) 5 R 9 e
(1) T S e A

(2) e feeree o few e feffam v

(3) i %1% 9 0 e 2%

() e fre

Options:

54025062357. 1
54025062358. 2
54025062359. 3

54025062360. 4
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